This question paper contains 4+2 printed pages]

Your Roll No. ........cccovvivunnneeannnnn,
7525

B.A. (Prog.)/l1 D-1
o
ECONOMICS—Paper I1
(Macro-economics)
(NC—Admissions of 2006-2607 and onwards)

Time : 3 Hours Maximum Marks : 100
(Write your Roll No. on the top immediately on receipt of this question paper.)

Note — Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.
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Attempt any five questions.
All questions carry equal marks.
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1. Explain product method of measuring national income. Using
an example, bring out the problem of double counting in product
method. _13,7
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(@ Discuss the various macro-economics issues. 12
(b)  Distinguish between actual and potential GDP, 8
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Explain the concept of investment multiplier with the help

consume. 13,7
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(@) Explain the determination of equilibrium level of GDP in
a two-sector 'economy using aggregate expenditure

approach. 12

()  You are given the following information :

Consumption Function C=125+08 vd
Investment I = Rs. 200 crores
Lump-sum Taxes T = Rs. 100 crores

il

"Government expenditure G = Rs. 75 crores

Disposable Income Yd=Y - T
()  Find the equilibrium level of GDP.

(i) Calculate new equilibrium level of GDP if investment

increases from Rs. 200 crores to Rs. 300 crores. 4.4
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Define aggregate demand. What are the factors which
cause a movement along and shift in aggregate demand

curve ? 8,12
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._Explain'the ratios approach to the creation of credit in-an

economy, 20
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Balance of payments account always balances, then what
do you mean by deficit or surplus in Balance of Payments

account ? 20
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Write short notes on any ‘rwo of the fgliowing : 10,10
() GDP as a measure of welfare

(u) Derivation of IS curve

(iii)- Speculative demand for money:.
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